.

/

e
Yex . Tlne-f will At jn the wmidair. <) ;
Pecause in the y Airection, +he two balls

have cane initial velocities & same acce leration . [hen H\e«, will hawe

the same heic&l\r ax +the same time. l.f the floor is sufficientl

-f‘nr dowp +hed fhe)/ herer hit the ground, they (| hit in the "midair.
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v = 120w 7
T{ls. = S 5

? I'x = ws2f” Vt ':-.60"‘/5 ;

(&) Uy= Ut + Ux = bo+ lZOManﬁ 6=2¢°
= 160, s

%) Vi =Uy = (205in6 hfg = 507 ms

) the mital angle depends on Vy and Uy
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() If the tank wans 4o maximize ifs range , v
Uy = Ue t U 056" ol
B =, sin@'" V.
tano? = UL = Vo sin®” ri)
U Ut + Vo4 " Vi
- we"
d~:1-u\',_z'_5.‘_._ = 46° e angle makes the |M§]0/:Qt renge .
U't‘-l- Votosp " .

8 = 6.7 °




